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28 HERREO R SEE{E R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |[FrEEH - §/NFEE(BFEIEENARER)
Feckir ™ 2277 0.004 - 0.028 0.010 =
AT 1.512 0.012 - 0.429 0.109 =
/L% (HCI) 4.545 0.072-0.189 0.145 2
SFAEE (HF) 0.306 0.016 - 0.072 0.037 =
— /BT (SO2) 15.147 0.531 - 4.334 2.636 =2
—& (L% (CO) 7.578 0.012 - 0.140 0.077 =
FALY) (NOx)
PLIZ&AEE (NOy) 30.303 0.985 - 15.055 2.076 =
EFE
(b)|[FHEEEH - HI9E (HFEFRENAGREE)
AR 0.756 0.008 - 0.012 0.010 =
SN 0.756 0.031-0.175 0.108 =
/L& (HCI) 0.756 0.118 - 0.174 0.145 =
LS (HF) 0.072 0.024 - 0.052 0.037 =
—&dEHR (SO2) 3.789 2.273 - 2.868 2.632 2
—&{Ef% (CO) 3.789 0.049 - 0.118 0.077 =
FEIEY (NOx)
DL=%AEE (NO2) 15.147 1.550 - 2.781 2.076 2
SR
28 HERREO BERaE R ERE
(kg/hr) (kg/hr) (/)
) BHEN (HZBI{LERFTEE)
7K 0.003789 <0.0003 =
R pEHY A E 0.003789 <0.0011 =
R A 0.0378 <0.0049 &
T Ry g ) 7.575 x 10 <5.444 x 10 =
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YEE AF
S HeERPRE® R SEE{E R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |[FrEEH - §/NFEE(BFEIEENARER)
(A 2277 0.003 - 0.082 0.018 =
G A P 1512 0.024 - 0.707 0.078 =
/L% (HCI) 4.545 0.015 - 0.230 0.159 2
SFAEE (HF) 0.306 0.001 - 0.072 0.040 =
—ZMEWT (SO2) 15.147 0.001 - 7.751 2.510 H
—& (L% (CO) 7.578 0.000 - 1.268 0.048 =
FALY) (NOx)
PLIZ&AEE (NOy) 30.303 0.678 - 10.068 1.809 =
EFE
(b)|[FHEEEH - HI9E (HFEFRENAGREE)
AR 0.756 0.012 - 0.022 0.018 =
LA 0.756 0.029 - 0.143 0.078 =
/L% (HCI) 0.756 0.103 - 0.196 0.159 2
LS (HF) 0.072 0.029 - 0.054 0.040 =
—21EHi (SO2) 3.789 2.090 - 2.837 2.514 =
—&{Ef% (CO) 3.789 0.026 - 0.104 0.049 =
FHAY (NOx)
DI=&AEE, (NOy) 15.147 1.019 - 4.145 1.835 =
SHE
28 HERRE® RS S ERE
(kg/hr) (kg/hr) (/)
(c) FREHN (HET{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.0049 &
g I Ry ki) 7.575 x 10 <5.572x 10 =
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S HERREO R EHEME R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |[FrEEH - §/NFEE(BFEIEENARER)
Feckir ™ 2277 0.002 - 0.351 0.004 =
AT 1.512 0.034 - 0.508 0.091 =
/L% (HCI) 4545 0.039 - 0.202 0.137 2
SAEE (HF) 0.306 0.011 - 0.083 0.046 =
—ZMEWT (SO2) 15.147 0.027 - 4.158 2.801 H
—%& Ll (CO) 7.578 0.001 - 0.085 0.043 =
FALY) (NOx)
PLIZ&AEE (NOy) 30.303 1.159 - 8.914 2.384 =
EFE
(b)|[FHEEEH - HI9E (HFEFRENAGREE)
AR 0.756 0.002 - 0.016 0.004 =
SN 0.756 0.055 - 0.143 0.091 =
/L& (HCI) 0.756 0.115- 0.168 0.137 2
SAEE (HF) 0.072 0.034 - 0.056 0.046 =
—&/EHi (SO2) 3.789 2.334 - 3.070 2.800 =
—&{Ef% (CO) 3.789 0.021 - 0.068 0.043 =
FEIEY (NOx)
DL=%AEE (NO2) 15.147 1.831 - 3.419 2.383 2
SR
28 HERREO RS S R
(kg/hr) (kg/hr) (/)
) BHEN (HZBI{LERFTEE)
7K 0.003789 <0.0003 =
R pEHY A E 0.003789 <0.0013 =
R A 0.0378 <0.0057 &
T Ry g ) 7.575 x 10 <6.410 x 10 =
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Y& BF
28 HERREO R SEE{E R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |[FrEEH - §/NFEE(BFEIEENARER)
Feckir ™ 2277 0.002 - 0.871 0.009 =
AT 1.512 0.020 - 0.640 0.101 =
/L% (HCI) 4.545 0.032 - 0.600 0.193 2
SFAEE (HF) 0.306 0.003 - 0.121 0.054 =
—ZMEWT (SO2) 15.147 0.012 - 9.198 2.311 H
—& (L% (CO) 7.578 0.029 - 0.331 0.173 =
FE(EY (NOx)
PLIZ&AEE (NOy) 30.303 1.101 - 13.541 2.165 =
R
(b)|[FHEEEH - HI9E (HFEFRENAGREE)
AR 0.756 0.004 - 0.081 0.010 =
SN 0.756 0.058 - 0.190 0.105 =
/L% (HCI) 0.756 0.115 - 0.257 0.190 2
LS (HF) 0.072 0.042 - 0.059 0.053 =
—&dEHR (SO2) 3.789 1.101 - 3.023 2.292 2
—&{Ef% (CO) 3.789 0.107 - 0.232 0.173 =
FEIEY (NOx)
DI=&AEE, (NOy) 15.147 1.477 - 4.395 2.252 =
SR
28 HERREO BERaE R ERE
(kg/hr) (kg/hr) (/)
) BHEN (HZBI{LERFTEE)
7K 0.003789 <0.0003 =
R pEHY A E 0.003789 <0.0013 =
R A 0.0378 <0.0058 &
T Ry g ) 7.575 x 10 <6.435x 10 =




TS RBR B R
YEF R EEE RS
2023 4£2 B

() EEGERELURE HRIER - BB Ry 101.325 kPa » sg iR Fat BA%E - LIRS
A& 11% RBSHEEIEIE -

(i) TR FTR ARFHRL T - BIZESR VAL T AR SR B E AL Ry 10um B/ -
(iii) fERHT 30 o8 feiet 8 /NRFHUGHANHYFE(E - BRESE ~ B ~ &% ~ 5f - 83~ 87~ &f > PR -
(iv) 1£ 6 2 8 /NEFHURIINEYFH(E -



